DIVISION WITH A REMAINDER (H - SET 4)

Drvision Name:
Time: Score: A
n 300+ 10 = 16) 19476 + 9 =
2 3902 = 10 = 17 43830 + 5 =
5 9364 = 5 = 18) 21105 -3 =
) 4619 + 5 = 19 11879 + 2 =
5 16818 = 2 = 200 24682 + 9 =
6) 0444 =— 5 = 21) 6546 +— 10 =
N 84673 +9 = 22) 2225 +10 =
5 1715 +4 = 2) 2632+ 5 =
9 33855 +5H = 20 4057 =5 =
10) 28213 + 10 = ) 68312 + 7 =
1) 49227 =10 = 260 6777 =10 =
12) 6147 = 10 = 27) 37656 — 6 =
13) 4913 =5 = 28) 27058 =9 =
1) 3271 =5 = 209) 37570 =5 =
15 7352 =1 = 300 76124 + 10 =
Mathematics: Division - Level T - Horizontal - Set 4 18 cul
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